d. b(M630 VIN6RS 606ML JIKOL d350MIIRISOL 3MOLBSRBIBOL LOFIIS(MISO

3320+00 — 33.25+00

333030 3@MBOK0O

133G0BO3SGOS

306M3000 5>R60'336360

(303IB0L ROLOLINIdS

d. b(M6'd0
V306RS 6060 JIKOL dSOMAIRISOL
MSLBORBIOL OIS IS()

b/3%ol golfmabsbgdygmo a99ds;
I/3%0l g®™dogo 3Gmeoeno
33.20+00 — 33.25+00

0309JHob dgdstgmds:
bodommggenm;
bmbols dyboodsao@gdo, J. bmbo

Ygmobbdgdyamos

833900
bmbols dybozods@o@g@o

30mgJHotgds:
3.3.L. ,,bmdo-2005¢
b/3 244685131
J- bmdo, 3905l J. N7

do. 5O JoBgdd | O 3ORIL0S>

. 0bgobgo | . 330330605

500 s> Mgy, Ne

©oMgdmeo | L. @omdsos

bdowos d. 3.

05@000 BIOGIDO | IOGE oo

2 ) 2 2 ) )
= = S S = =
F F F F F F
ce
3
544
& n
%3
S»
R
SE
+50.0
35650 o | 150 2.70 0.802.80 13.80
8560020 8 150 _ 150 BE) 50| 50
c < 2 v v vy e}
g | 956GbI6S 9|2 S = > o =
e} e Q a a )
N 3 2 2 ) 2
GBI6A®0 (RIMJ0) a 8 8 § g g 5
< (=) v w v v
95GX3I6S 9|2 = % = P =
e} e Q a & )
T 4560930 % — 1500  T—— 2700 T—— 0.80]2.80 380 —
c \ T T T // —
€ | 85640520 3 — 1[50 |50 — 150 — J— 50 50
%% g | 85066365 g% 8 5 4 g g
212 | 95666, oS : i e g
== = z S 2 = e
22|32 | GI®E0 (206d0) 9|2 = & o & =
S5lc e} a g g a 9
S 5| 856%3965 9|2 0 5 3 g S
¢ =3 S ) 0 oy —
g a@ e Q‘ a a «
8560820 3 50 50 50 50 50
W/aH0L 3SLYM@AbSHIBIRO 633>
§C RYBOSEIBIRO S/3IBME0 % 50
© 2 [2M@R0b 653852080 L5/56
g 2 [ BovdBIB020 5R00%2380 8
2 3 | 03MIb0 %
g
€7 | 3060HM6GSDIG0 HIRIB0
bIRM36IO0 653I5MdIS0
300(M30M0 SKR60I36I80:
):( SALIB IR0 BOKIMBOAHN/ BOKO
SAHLIB IR0 FORHLOKO
( BS3@MIIE BOLHOKO
L/dBOL /JIROL/ SALIBIRO LOBISGOS
35640380 [ b699M38560 [3322+18
[ 1 Q5%056IBIR0 S/3IBHME0 ‘
A0LSIOIR0O H3IHRIR IS0 e < ° O N3 =]
2 oo A
2L {LSABIM LSOO 1:030 B Lza > >
g 030 Lo
3
A0LSIAIRO H3IARIRIdO I I¥=3 8 © O O et
856902030 50 50 50 50 50
| 21 2 23 24 25
30393950 (30B@IB0) |
1000 33.20+35 1250

BMAHISGO 35LBSB0:
A3 4®d030 — 1:1000




